Year 5 Homework, Summer Term Week 9

Maths: Speedy Six
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23.44 x 100 =

2. 1234.2-334.6 =

What is 1324 ml in litres? (Remember there

are 1000ml in a litre.)

4. What is 20% of 600? (Remember find 10%

first.)

5. 5543 x 44 =
6. What is the fraction equivalent to 0.5?
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0.0032 x 1000 =
19272.77 - 3204.44 =
What is 234ml in litres?
What 654g in kg?
What is 55% of 620?
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equivalent to 0.1?

What is the fraction and percentage
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Quick Comprehension: Complete the sheet ‘Clean Air Drive’. Children should allow themselves one

minute to read the text, and five/ten minutes to answer the questions. Some of the questions are quite
tricky, so don’t worry if you have to talk them through with an adult.
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Spellings \

inconvenient minibus

impossible | microscope

impolite microchip
impatient little
improper small
existence please
convenience really

Core Support
incapable minimum

incredible duckling
inaccurate | weakling

\_
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Optional Maths Extension:
One bonus house point available

These bwo shapes have the same perimeater.

regular hexagon square

Hol actual size

Thia length of aach side of the haxagon |3 8 centimatres

Calculate the area of the square,

Homework is due in on 9th July
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